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Note : All sections are compulsory. 

SECTION A 

Note : All questions of this section are compulsory. 

1. State whether the following statements are 
True (T) or False (F) : 	 3 

(a) Synecology is the study of the ecology of 
groups. 

(b) Light is the major limiting factor in aquatic 
ecosystems. 

(c) The biomass is measured in kcal/m2/yr. 

(d) Primary production depends on solar 
energy. 

(e) Rivers are a type of lotic ecosystem. 

(f) Carrying capacity is not the saturation level 
beyond which a population does not grow. 
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2. Give the technical term (one word) for each of 
the following : 	 2 

(a) Organism interactions in which one 
organism benefits and the other remains 
unaffected. 

(b) Zone of vegetation separating two different 
types of communities. 

3. Fill in the blanks : 	 2 

(a) An animal whose body temperature tends to 
vary with surroundings is called 	 

(b) A species in imminent danger of extinction 
is termed as 	species. 

(c) A dark soil is usually rich in 	 

(d) The content of dissolved salts in brackish 
water is 	than fresh water. 

4. Define the following : 	 3 

(a) Niche 

(b) Succession 

(c) Stratosphere 
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SECTION B 

Note : (i) Attempt any four questions. 

(ii) All questions carry equal marks. 

5. What is an age pyramid ? Describe the types of 
age pyramids with suitable examples. 	2 +3 

6. (a) What is cation exchange capacity of the 
soil ? 	 2 2  

(b) Comment upon cation saturation and 
nutrient absorption by plants. 	 2 

7. Describe briefly the various stages of xerarch 
succession. 	 5 

8. What are Life Forms ? Describe the various 
types of Raunkiaer's Life Forms. 	 1 +4 

9. Compare the characteristics of an Oligotrophic 
Lake with a Eutrophic Lake. 	 5 

10. With the help of a well labelled diagram explain 
the Nitrogen cycle. 	 5 
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SECTION C 

Note : (i) Attempt any two questions. 

(ii) All questions carry equal marks. 

11. Describe the various consequences of water 
pollution. 	 10 

12. Critically comment on the following statements : 

(a) Primary succession proceeds slowly 
compared to secondary succession. 	 5 

(b) A Grazing Food Chain in a forest ecosystem 
consists of a few trophic levels. 	 5 

13. List the major causes of degradation of 
ecosystem. Discuss any two causes in detail with 
the help of relevant examples. 	 2+4+4 
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